3
IDATE PLEASE READ CAREFULLY

(NN,

Answer Scnpt (mcludmg Paper for rough work) i.e. Name, Address, Roll

o a7 A, T A i & iy A e SR

)

B 1- Dl

4ten even in th

f?oras-, numbe g Total Obtained
for which the Marks Marks
X0z, ABC, UnithA[ 10 6.5
gﬁ anfe q’%’u} Unit-1-B 25 14.5
PART - | < : ' Unit-l-C 30 12
Papor Code \NTINSTR{ ___ Unitdl-A 10 6.25
, g;;“sw e Unit-Il-B 20 7.5
P-2_ Ty or not printe Unitdi-c 40 18
gllator and chan—U.nit "I A ."] 2
— gfj,zf:’v ol Unit-lll- c 30 10.25
——v* ydeduct 5 mark Total Obt.
— A TS TR 3 Marks in 200 86.25
—_— ; ST BT 7 Figures
. — ] S n which soti]  =ial
[ . ' Lover Sheet is
—— H s Em Wt{cﬁ Marks in Eighty Six+ %
SE— . $
— &1 s Words
N §erent units and
_ ,I
W J-ce either of pri
..o ¢ streated as sta
Lglish,_ not in by
Aindi or Englisl
& % AT, <)
fo arerT ¥ f&)
lers only in the
1e the border lir
{fereht o weet 4
s arEY forg M

e e nswers beyond
WA q 3 w8l e
ot 1esnon out of 1

¢

ter fawe {3

s
-

H

T - - 7 e gRaPT B fE s @ &ty o ol @ orrar 99 W R v
grr Iaa |gof wen iR o w1 @i ol oud fe seneli saver B
$

v o ‘ | candidate or any attempt is made to damage the answer script or any marking as
. jon shall be cancelled by the Coramission, for which candidate will be liable.

-
i
- e






. WIMICAOM

CANDIDATE PLEASE READ CAREFULLY B
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Do not write any mark of identity inside the Answer Script (including Paper for rough work) i.e. Name, Address, Roll |
Number, Mobile Number etc. Not to be written even in the letter writing (XYZ, ABC etc. may be written) Name of God,
any religious sign, any irrelevant sentence, words, number other than the answer of question must not be written. Such
act will be treated as unfair means and entire examination of the Candidate shall be cancelled and he may be debarred by
the RPSC from all the future examinations, for which the candidate will be liable.
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,* | IMPORTANT INSTRUCTIONS (Fexayqel fde)

(A) ' It should be ensured that the Question-Answer Booklet is provided in a sealed envelope to the candidate.
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(B) If the Question-Answer Booklet is torn or not printed properly or some pages are missing (Please count the number of
pages) then bring it to notice of Invigilator and change the Question-Answer booklet, otherwise the candidate will be
liable for that.
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(C)  Please fill up all desired details properly on Cover Sheet of Question-Answer Booklet with Blue Ball Point Pen before
answering. The Commission may also deduct 5 marks from the marks obtained if Roll Number is not filled correctly on
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(D)  This Cover Sheet consists of two parts, in which some information is pre-printed, remaining details have to be filled by
the candidate. Please ensure that this Cover Sheet is not torn or damaged.. _
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(F)  The question paper is divided into different units and parts. The number of questions to be attempted and their marks are
indicated in each unit and parts.
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) If there is any sort of ambiguity/mistake either of printing or factual nature then out of Hindi and English version of the

' question, the English version will be treated as standard. _
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(G)  Attempt answers either in Hindi or English, not in both. For Language Papers, answer in concerned language and script,
unless directed otherwise to write in Hindi or English specificaily. _
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(H)  Candidates are directed to write answers only in the prescribed space of booklet. They should not write answer outside
the border line. Answer written outside the border line will not be checked. ' ‘
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J) If there is a choice to attempt one question out of many and the candidate attempts more than one question then only
first answer will be assessed.
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PAPER - 11
GENERAL STUDIES & GENERAL KNOWLEDGE
(Total 200 Marks)
(Total 39 Question)
Unit -1 (65 Marks)
@ - 1) (65 3i®)
Part - A Marks : 10
HRT — 31 | % : 10

Note: Attempt all questions. Answer the following questions in 15 words each. Each question carries

| 2 marks.
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1. Explain the role of the concept of ‘sthit pragya’ in the discharge of administrative
_responsibility.
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2.  What teachings of Buddha are most relevant today and why?
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3. What do you understand by ethical dilemma?
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4.  Explain the relevance of ethical idea of ‘Rina’ in the administrative life.
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5. What way ‘detachment theory’ of Bhagvad Geeta is significant in the life of an .:
administrator?
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Part-B Marks :

YT — g P : 25
Note: Attempt all questions. Answer the following questions in 50 words each. Each question carries
5 marks. '
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6. - ‘Men’s Moral Advancement depends upon complete advancement of society.” Discuss.
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7.  “Family is the most important 1nst1tut1on for the moral development of man”. Evaluate this |

statement.
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Explain the Kant’s ultimate good on the basis of relative and categorical imperative.
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What are generally considered to be the minimum basic needs of an individual to lead a

healthy and productive life? What is the administrators responsibility in ensuring these
minimums?
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10. 'What are the core ethical values required for excellence in civil service?
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Part—C Marks : 30
T — & 3% : 30
Note: Attempt all questions. Answer the following questions in 100 words each. Each question carries
10 marks. _ . R _ .
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11. “Necessarily relat
for real and lasting success.
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» Explain the above comment in the context of Gandhian ethics.
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ed, means cannot be separated from ends. Therefore both must be au3p1c1ous '
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12. Explain_ tl:xe facftors es:v.e.ntial in “Ethical decision” making, In czisc of ethical decision being against
to administrative decision, how will you harmonise them? Explain with examples.
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Unit - JI (70 Marks)
@re ~ 1) (70 i)
Part - A ~ Marks: 10
T — 3 3% : 10

Note: Attempt all questions. Answer the following questions in 15 words each. Each question carries
2 marks.
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1. Differentiate between nuclear fission and fusmn
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2.  Explain the role of calcium carbide in the artificial ripening of fruits.
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3. What is an OTT platform?
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4.

What is the basic concept of operation of RFID? Give two application of this technology.

IR.YP.3E Y. TEIT BT A (g 91 87 59 aeie & o SuanT S|

REFZID mr?*—tl/_( e ﬁ&elw?ﬂ&e?lgao{g 'Te_Cu\Ae)!

| -tmmsmw:e/v ond  Hhas ANL MULL 6 LCIE@J

o nfemton Aered G A & T

%Ff{»ujlms =W —y—M—HgV RFID 7@« Tell Tax

i} PW Car ¢

What is the difference between Polar Satelli - : '
launch vehicle? atellite launch vehicle and Geosynchronous Satellite

aﬁammmm@vt{mmﬁwmﬁwwﬁ
ps L Vv N GeLv

L‘ul.A

! . d Chpcen ¢
) .w-Ew-r S"'v.?g ! w -2 2 _L\r&g"‘_z‘ﬁ‘éé\/um

HTML_...

| . - . LCO—HTM
| Cpecih & e T »wawﬁq P b T s Ty

le()——}‘” [W 'Tvcbq“—

.-.,baa[gf_-!—f 2 T Max |o how

~ U e 4"‘Ttmnc M so

rwo(lChoY'Se B:Jﬁ_I—&KO . PL&avunu,ngf— lﬂ-uuucguw

- |
MoM 3 G LHANPRAYAN L L Ro

weelaa 'nternie i <  ound] ooxx-y\,‘leJ Mo T”‘,J,(-- y |

| 0.5(Zero’2)

i (Q.Unit-11-A-3)

0.5(Zero’?2)

(Q.Unit-11-A-3)

0.75(Zero%a)

(Q.Unit-11-A-4)

1.25(One's)

(Q.Unit-11-A-5)



wer [ RUAARMNY

Part - B Marks
T — 9 , 3ip : 20

all questions. Answer the following questions in 50 words each. Each question carries

Note: Attempt
' 5 marks,
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6.  Write any five benefits of the medicinal p]
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7. What is Cryptocurrency? What are its advantages and disadvantages?
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8. 'What are the differences between the previous generations of mobile networks and 5G
Network?
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Note: Attempt all questions. Answer the following questions in 100 words each. Each question carries
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10. (a) Which property of carbon is responsible for formation of large number of compounds?
(b) Write domestic and industrial applications of carbon compounds.
(¢) Give an example of each —
(i) Aurtificial sweeteners
(ii) Food preservatives
(iii) Ores of zinc o ‘ _
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13. Mention the contribution of the following Indian Scientists —
(i Homi Jehangir Bhabha = (i) Sir Mokshagundam Visvesvaraya
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Note: Attempt all questions. Answer the following questions in 15 words each. Each question carries

2 marks.
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1.  Write qbout time range of Mesozoic era.
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5.  Write the zinc producing areas of Rajasthan.

W%WWMWWWI

o ij bz, —Darib (chitorgmrh ) %
. %W\/\)U\rﬂ - A‘sz; ( QLV:JWV"‘)
. bﬁn&&aar'(?uaMM)
/
Part—-B Marks:ZS
ET — g : 25

Note: Attempt all questions. Answer the following questions in 50 words each. Each question carries
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7. Disc
uss in brief the geographical features of Rocky Mountain range.
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9.  Discuss the physxcal features of Hadoti plateau of Rajasthan.
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10. Dzscuss the distribution of major metallic minerals of Rajasthan in brief.
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11. Describe the problems of Geopolitics in context of South East Asian countries.
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12. Describe the development of non-conventional e ergy in Rajasthan
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| 13. Explain the concept of Geo-heritage and highlight its potentialities in Rajasthan,
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